4/2/2021. LECTURE 2.

Bayesian approach: Specify a prior distribution f(0) for O
Combine this with the likelihood f(x10) f(rla) to doturn: · Posterior distribution f(Ql)) for Q given x using Bayes' theorem, POSTERIOR LIKELIHODO PRIOR $f(\alpha | x) = f(x | \alpha) f(\alpha) \propto f(x | \alpha) f(\alpha)$ function of O does not depend with respect to O Boycesian analysis is concerned with distributions of O and how they change in the light of new evidence (typically data) With this approach, we can answer the question "What value of O is most likely given the data?" rather than the question "What when if O makes the data most likely to occur?" · Distribution f(210) irrelevant to Bayesian after the data has been do served. · For the classicist, f(210) is the only distribution available. 1. THE BAMESIAN METHOD. Note: Use fl.) to represent density function irrespective of whether the RV are discrete or continuous Generally make no distinction as to whether variables are univariate or multivariate.

1.1 BAYES' THEOREM.

Let X and Y be RVs with joint density
$$f(x_{j,y})$$
. The MARGINAL DENSITY of
Y, $f(y)$ is
 $f(y) = \int f(x_{j,y}) dx$
 $f(y) = \int f(x_{j,y}) dx$, $f(y) = \int f(x_{j,y}) dx_{j,y} dx_$

$$f(y|x) = f(x,y) = f(x)f(y)$$

$$f(x) = f(x)f(y)$$

$$f(x) = f(y)$$
Nothing further (... to be north about Y by descring X]
$$f(x,y) = f(y)$$

$$f(x,y) = f(x)f(y) = f(x)f(y) = f(x)f(y)$$

$$f(x,y) = f(x)f(y)f(y)$$

$$f(x,y) = \frac{f(x,y,z)}{f(x,z)} = \frac{f(x,y)f(y)}{f(x)} = \frac{f(y)f(y)}{f(x)}$$

$$f(x,y) = \frac{f(x,y)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(y) = \frac{f(x)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(y)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(x)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(x)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(x)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(y)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(y)f(y)}{f(x)} = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(y)f(y)}{f(x)}$$

$$f(x) = \frac{f(x)f(y)f(y)}{f(x)}$$